1. Which of the following dynasties is associated with the Bronze Nataraja sculptures?

TeRTST Y B UfTAT3N BT Jae 578 I fpg dor a2

A. The Pallavas
Toold

B. The Vijayanagara

C. The Cholas
N

D. The Chalukyas

2. Amrita Shergil is a famous

3aT ORI U UG kS

A. Actor
3rfdaE

B. Painter

fesrerR
C. Singer

D. Dancer

Tc<pT

3. Ustad Bismillah Khan is a famous

IR fdafice @A Uh Ui ®.

A. Sarod player
e d1eh

B. Shehnai player

2AEATS dT5H

C. Tabla player
GEGLCICE

D. Sitar player
4R arew

4. In which museum is the original painting ‘Mona Lisa’ exhibited?



AT faT &1 7 o7 5 SueTera H wafeld 82

A. Elysee Museum, France

B. Museo National Del Prado, Spain
RIFSTAT A2 et YTel, T

C. The Louvre, France
< o, Wil
D. British Museum
fafeer &gforam
5. What is a folk dance form of Rajasthan?
ISR & AT &7 &-T ATH 872
A. Dandiya
sifear
B. Ghoomar

qm

C. Koikattikali

BIgPIGIPe

D. Lavani

ATont

6. By whom was the slogan ‘Jai Jawan Jai Kisan’ raised?
TG S ST {1 ART b & om?

A. Jawaharlal Nehru
STATERATA A%

B. Lal Bahadur Shastri
el JBIgY AT

C. Indira Gandhi
gfeRT iRt

D. Rajiv Gandhi




NSICRIET

7. What is the chronological order of the winners of Dadasaheb Phalke Award from 2011 to 2013?
2011 & 2013 T aTaT HTed Bleh JIBR & faSIarsil 1 Fet b7 T 82

A. Gulzar, Soumitra Chatterjee, Pran

B. Pran, Soumitra Chatterjee, Gulzar

C. Soumitra Chatterjee, Pran, Gulzar
feer e, 1o, TR

D. Gulzar, Pran, Soumitra Chatterjee

8. Which is the sixth community that recently attained minority status in India?
Ig Bl HHTI DI AT & ol WRd A BTcT &1 H 37cud e T Pl i el ?

A. Sikh
faa

B. Parsi
URdl

C. Buddhist
dig

D. Jain
e

9. On what basis was India reorganized into different states in 19517

1951 ® WRd o fahi=1 Irs4i & b 3R TR GA(Sd fosar mam?

A. Religion
e

B. Caste

C. Languages
HHT

D. Natural Resources

UTpidd TATeH



10. Name the Indian whose symbol for Rupee ‘T’ was accepted as official.

I URA &1 719 o ST $UA & feid ST Udite 3 3ATEhTReD g3,

A. Nondita Correa-Mehrotra
AT BIRT-HAEIT
B. Hitesh Padmashali
fEaer garemet
C. Shibin KK
feifed bb
D. D. Udaya Kumar
L3I PR

11. Which of the following is correct?
STH U oIT e 82

I) NCT stands for National Capital Territory and delineates geographical boundary of
Delhi.
TS T 37¢f & I IroteTt uRer 3iR I8 ot &t Wiifeies AT & <2 2.

IT) NCR refers to National Capital Region and comprises not just Delhi but four satellites
towns such as Gurgaon, Faridabad, Ghaziabad and Noida.
TAHI3TR IS IoTeTT & 8 3R g9 Paet vt &1 78l dfcds Temid, Wiads,
TSITETE 3R RISt S 3UE 2reR WY oMfAe .

A. Only I is correct
HIc 1 T 8

B. Only II is correct
HIe 11 TE 7

C. Both I and II are correct
A 1R aTR

D. Neither I nor II is correct

TA e g IRAT I e

12. For which animal is the Gir Forest National Park known for?

R I 3erm b U] & foidr STHT STl 872

A. Bengal Tiger
CHIGKAEUER



B. Asiatic Lion
uferars 2R

C. Elephant
greft

D. Rhinoceros

e

13. The name of the cluster of Laccadive, Minicoy and Amindivi islands was changed to by an
Act of Parliament in 1973.
U BT 1973 b dgd eiebfed, fAfer 3R srlacidt g1 JHg &1 48 H T T

A. Andaman & Nicobar Islands
3ieHH PR v g

B. Lakshadweep Islands
CEEERDE

C. Indonesia
ESIRIER

D. Mauritius

ARIeRT

14. When an object appears RED to us, it means

T IR g AITeT fEelt §. 3BT Aaeid &

A. Object is reflecting only those frequencies of visible light that belong to red colour.
TG T2 UPI2A Pl Bac 381 3Ngfadl Bl WIafcd B IEl & o AT 91 Wedfea 8.

B. Object is refracting only those frequencies of visible light that belong to red colour.

IR T UGBTI BT Bac 3761 3] BT AT B Ya & AT ool 31 I Hefed 2.
C. Object is dispersing only those frequencies of visible light that belong to red color.
TG €T UHI2A BT Had 31 Mgl BT fTeR FET 7 S dTet 17 F Heifed .

D. Object is absorbing only those frequencies of visible light that belong to red color.

TG €T UHI2A DY A 31 AMGIadl BT AIE Y&l € AT ool 31 I T e 2.

15. Which of the following elements is smallest in atomic size?

o dcar BT 37TUTIA 3TTAR T BleT &7
A. Hydrogen

EEELTE]

B. Carbon



PBIE
C. Helium

feferam
D. Oxygen
3RS

16. By which law of physics does a passenger in a moving bus fall forward when breakes are

suddenly applied?
ifdest & fos a9 & IR Tetd! g a9 # YUK 3= s @7 WX 3T BT 37R e STl 872

A. Law of Inertia
g 1 fam

B. Law of Gravity
THITHYUT &b fHaH

C. Law of Entropy
Tt T fam

D. Law of Thermodynamics

IR BT e

17. A student was asked to prepare a list of minerals. Which of the following did she select
incorrectly?

T faemeff &t @fAsil ot Gt 7 & o gl 7T, 399 | B 1 gATd Hel T8 82

A. Table salt
W BT THE

B. Diamond
ERT

C. Quartz
et

D. Coal
PIICT

18. To which country did Pythagoras belong?
UTSYTTRY PT Haer fbd Sor § 87

A. Russia
vy



B. Italy

gedt
C. Greece

piC|

D. Portugal

LEGUICH

19. Name the artist who created the famous painting “Guernica”
A. Leonardo da Vinci
feraTet e fasit
B. Pablo Picasso
qrea fomraT
C. M.F. Husain

TH.U%. AT

D. Michelangelo

HTgBASTAl

20. Which of the following lakes features in the last scene of the Hindi film ‘3 Idiots’?

‘oft ef3gem foer o 3ifdm Tog ¥ g7 A BT A e @S M &2

A. Pangong Lake, Ladakh
drin giter, ererE

B. Lake Victoria, Africa
fdereTiRa gfte, 3rhiesT

C. Dal Lake, Shringar
3 &ftd, SR

D. Mansarover Lake, Tibbet
AERIER g, fdead

21. What is ‘Palace on Wheels’?
Yo 3 Bled” T 82

A. Abus
g9

B. A train

o



C. A luxurious tonga
3T i

D. None of the above

gTH A BIS el

22. What is the correct order of the winners of the Football World Cup from 2006 to 2014?
2006 I 2014 TF GeaTd fad Y & faorar e &1 TEt HH T 82

A. Italy, Spain, Germany
Feelt, VM, ST

B. Germany, Spain, Italy
ST, T, geet

C. Germany, Brazil, France

D. Spain, Brazil, Germany
T, sfoTer, STHA

23. Which player from amongst the following has not scored a century at Lords, the Mecca of
Cricket?

g0 9 food faaTst 7 fohdse & Aol g ST dTel “@T8d” H 2Idd el a1aT 82

A. Ajinkya Rahane
fSerT I8

B. Ajit Agarkar
37 3R

C. Sachin Tendulkar
HfaT deea

D. Saurabh Ganguly

I et

24. What do you understand by ‘digital footprint’?

TefSiee peftie F 31T =T FHed 82

A. Trail and traces of data left behind by users on digital services

fefoies Jamanl & 3uahTHdizN & gRT BIS T 3T & f72m4 31 daror

B. Digital data downloaded by a person
fth & gRT SIS {1 T 827



C. The scanned signature of a person

Hfth T b hAT g7 TEITER

D. All data seen on internet

e R A a1eT IRT get

25. What is ‘Orbital Debris’?
‘BT A’ BT T AdAT 27

A.Small heavenly bodies in orbit between Mars and Jupiter.
et 3R gezafa & g BI siqRaia garef
B. Any man-made object in orbit about the Sun which no longer serves a useful function.
T & < i Y el & Ara [AfHd IS Wt avg i1 319 3uANT B A& et
C. Any man-made object in orbit about the Earth which no longer serves a useful function.
ged} & &< fiid Y wen A Aa ffia IS i avg &Y 31a 3uantt Brf T wdt

D. Gaseous emissions from satellites

3UTEl gRT 3cgford

26. GPS navigation is possible if the GPS receiver has unobstructed line of sight to a minimum
of
SiTdied Afdted 9 8 afe Siidied RGaR et =FAdd 371’y Agd Hobd fael

A. Nine satellites
A 3uUEl b

B. Four satellites
IR U &

C. One satellite
Udp 3Ulg bl

D. Twelve satellites

CREREDEES

27. What is Artificial Intelligence?

PIEH gfgHT T 872

A. Intelligence acquired through education and knowledge
foleft 3R T & gRT 31fSTa gfgr
B. Intelligence artificially inserted into a child’s mind at the time of birth

ST b FHY T & fGATT H HEH aiih F Y2l e TS gfgHd]

C. Human-like intelligence exhibited by machines and softwares




D.

#2M 31K WA gRT wefla wge & St gfgean
None of the above

gTH A BIS TEl

28. The resolution of a camera which determines the picture quality is given in pixels. What is a

pixel?

IR BT T[uTerd bl AUTRA B3 aTetl B DY AT PI Ul A eh bdT STTdT &. foeel bl
T HATS 82

A.

Smallest conttollable element of a picture represented on screen

BB W WEf2ld U d&iR &1 3 A ST Gba 911 I Bler 3ier

Largest unit of a digital photograph
fefSiee BIel & Had 1 ST

. Size of the photograph in inches

BIcl &l gell § AT
Size of the photograph in centimeters

Il BT THIeR) & 719

Directions Q. 29 — 31: Each question given below consists of a statement, followed by two

arguments: I and II. You have to decide which of the arguments is a 'strong' argument and which is a

'weak' argument. Read the following carefully and tick the answer accordingly.

w2 29 | 31 & fid fAder: T A T 7es weT H vas e § fS1reh <1 s &: 1 31K 11 31ues! a7
BT 8 1o DI 1 T HSTg( 8 3R P FT db BHSIR 2. 1 & T 7oAl &l euydes ue 37k 39

AR Hel IR .

29. Statement: Feminism, as a revolution, is the need of the hour.

Arguments:

I) Yes. Women’s dignity needs to be urgently realized.
IT) No. let there be a natura change.

PF: U hifd b U H SdIG AT DI oT6d & .
dds: 1) . T8 3T ¢ fos faal &Y TiReT BT gemefter 7egy fasar S

A.

11) 781, UTpfde aRad g f&ar ST,
Only argument I is strong

&ad adb | #oTgd §

Only argument II is strong

BIc dds 11 ASTed &

10



C. Both I and II are strong
1 3R 11 QA Foted &
D. Neither I nor II is strong

A1 3R ATE 11 ASTd &

30. Statement: Parents should not encourage their children to have junk food.
Arguments:
I) Yes. Junk food is not good for health.
IT) No. Children have the right to eat whatever they want.

PAF: ATdl- fUdT BT 370 T B Sicb THT T b ol WedT(Ed T8l a1 anfed
ab:

1) Sidh T T & o) 371287 781 .

1) &Y, =i & 3MfUHR g I 39 SR $6 H @)

A. Only argument I is strong
Hae ds | 7oTgd 8

B. Only argument II is strong
PBIc dds 11 ASTd &

C. Both I and II are strong
1 37 11 A1 ASTgd 8

D. Neither I nor II is strong

A1 3R ATE 11 AT &

31. Statement: Women participation in armed and police forces is very low.
Arguments:
I) Women are physically and mentally weak so they are not fit for such jobs.
1) It is the responsibility of men to protect women, hence women need not join armed
and police forces.

e A= 3R Yfeid gl # Afgetraii b1 3ufeifd agd HH 8
db:
1) AfRARS QMR 3R AFEE BT I FASIR it & SAf@d d ARl &b 3P el 8.
1) I€ Haf &1 formiarR & o I forl &1 e &, safcd Afgansi eI 3= iR gfamaa o
ST &Y ST T8l &

A. Only argument I is strong

Bt dds | FoTad &

B. Only argument II is strong

11



el deb 11 ASTgd B
C. Both I & II are strong
[ 3R 11 #Tgd &

D. Neither I nor II is strong

a1 1 3R AT A 11 Jorgd B

32.Who wrote The Interpretation of Dreams?
STIYCM 31TH SR P &b B 5?2
A. Jung
g
B. Skinner

R

C. Freud

BIgs

D. Horney

T

33.In which country did the Anti-Gaddafi movement originate?

TEThT feRTElT 37TeTer febd or # 3fed gam?

A. Spain

B. Libya
ifaar

C. Malaysia

AT

12



D. Iran

34. What is the full form of CNG?
TSIt BT T BT T 872
A. Congested Natural Gas
PorRE et
B. Compressed Nitrogen Gas
EALSRIEHEERIE
C. Compressed Natural Gas
i et
D. Clear Natural Gas

R Rt

35.Name the largest sea bird.
TG IS HHST U&HT BT A4 Td1d?
A. Walrus

CIGE]

B. Seal

i
C. Albatross

el

D. Penguin

U

13



36. Which amongst the following is not included in the Fundamental Rights of the Indian

Constitution?

TH A B IT ATHR TR Tfdu™ & JaTfasRt # 2mfae &l 82

A. Right to safeguard public property
Hrdtfie dufd P geam &1 Afaer
B. Right to elect

fRafe &1 31faeR

C. Right to equality
IHMAAT BT 3fHBR

D. Right against exploitation

2NyuT & fdwg 3TfUdER

37. Who was the first captain of India’s Test Cricket team?

VR ¢ fobehe S BT YT BT b AT?

A. Vijaya Hazare
[ESEETIN

B. C K Nayadu
Ht F g

C. Dhyanchand
221 E A

D. Lala Amarnath
oATedT THIATA

38. To whom is Ved Vyasa said to have dictated the epic Mahabharata?
AT 4 HeMRd AElbTd by dietese foferarar am?

A. Valmiki
GGG

B. Bhishma

14



Ll

C. Narada

D. Ganesha
TMoYer

39. Aphrodite is the Greek Goddess of
THERE W edt

A. Knowledge and Power

3 3R 2rfeh

B. War and Hate
g AR THd

C. Music and Healing
iftd 3R 3UER

D. Love and Beauty

79 3ii A

40. Who wrote the Indian treatise Natyashastra?
RATT T ATeaeme fhe forar 82

A. Kalidasa
CAIG AL

B. Maithilisharan Gupt
HfeJeiteRoT e

C. Bharat Muni
Wd AL

D. Samudra Gupta

41. Androgyny is a concept related to

I TpdT Y 3aURT oy Jdfed g2

A. A combination of human and animal characteristics

HIS 3R U T {3l b1 Aed

B. A combination of animate and inanimate characteristics

Idq 3R 3T faorydrn &1 Ad

15



C. A combination of masculine and feminine characteristics
ufeiit iR Shfer faorwarsii &1 e

D. All of the above
W P Il

42. Identify the author who is not a Nobel Prize winner for Literature.

3 AEF B U il Alfecd b foid el REBR &7 faorar Tai o

A. Gabriel Garcia Marquez
Wsrget midar wrefst

B. RabindraNath Tagore
AT SR

C. Rudyard Kipling
TS febufeim

D. Leo Tolstoy
foah e

43. Rajatarangini is a historical chronicle written in Sanskrit by

ISTARTOT i¥pa W forar ges UfderRie gd & iS5 I for g,

A. Kalhana
PhegUl
B. Kalidas

GG AL
C. Tulsidas

LGRS

D. Lal Ded
GEU

44. Name the poet who wrote Sare Jahan se achha Hindustan hamara’

A. Tulsidas
B. Igbal

ghdled
C. Ghalib

16



D. Rabindranath Tagore
TTATY SR

45.The literary form of Godan is:
e foser wrfefcies faar  smar 82

A. Novel
ELCZIC]

B. Memoir
HEROT

C. Travelogue
AT gl

D. Short Story
EZEll

46. Who is the author of the novel Raag Darbari ?

IMT IR ITATH b b T8 J DPIF 22

A. Rahi Masoom Raza
e AGH 3T

B. Phanishwar Nath Renu
TUTIeERATel 30T

C. Shrilal Shukla
sfteTet Qe

D. Manohar Shyam Joshi

17



HATER 9ITH Sireft

47.Name the playwright who writes in English?

STH I DI 37U HTST BT TTChdR &2

A. Vijay Tendulkar
fasr deerax
B. Girish Karnad

fifker &afs

C. Surendra Verma
e gnf
D. Mahesh Dattani

HR2l gL

48. Which film from amongst the following is not based on any novel?

270 ¥ B It fober fopelt 3u=mg WR 3merRd el 22

A. 3 Idiots
off setaeH

B. Sara Akash
HIRT ATRIR[

C. The Namesake
LR

D. Udaan
3g

49. In which field is the Jnanpith award given?
YIS REBR bt & # 131 SI1ar 82

A. Cinema



IGECI

B. Literature

aifge
C. Sports
e

D. Politics

50. Which of the following is incorrectly matched?

TAd Hed ! ggdT

A. India wins Freedom — Maulana Abul Kalam Azad
ST a8 WhIgH — AT 37l el TSI

B. Annihilation of Caste — Baba Saheb Bhimrao Ambedkar
TfRIWM 37 BRL — ITaT ATed HITRTG 3dea

C. Discovery of India — Mahatma Gandhi
fexpadt 3w $far — were i

D. Wings of Fire — APJ Abdul Kalam
fdr 37Tt BRR — TUIST 37egel BalH

51. Which of the following is correctly matched?

& A Uga

A. Five Point Someone - Amish Tripathi
WIgd WSS FHe - 37AY FHurdt

B. Immortals of Meluha - Kishor Chaudhari
SETEE 3T efgl- iR TRy

C. Maximum City - Suketu Mehta
HeawH G- gbg Agar

D. Narcopolis - Shashi Deshpande
ArepfaTferd- 2rfer erais

52. Amrita Pritam is a poet who wrote in

39T Hidq Ueh Bfdasi & 3= # fotar.

A. Urdu

35

19



B. Hindi
5

C. Punjabi
Garet

D. Rajasthani
LT

53. What do we mean by ‘Pigs will fly’?
T faet TetTs” & SHRT AT 3772 82

A. ltis easy
BEEINIE N

B. It is desired
Ut sesie ot

C. Itis possible
PEEEER]

D. Itis impossible
Ig 3T }

54. Who among the following is not a Hindi writer?

3T I P fE& ¥TST &7 e 81 87

A. Premchand
LEC

B. Sharatchandra
QR

C. Vishnu Prabhakar

fersogspars

D. Mahadevi Verma

HETedtant

20



55.To which domain is ‘Selfie’ related?

‘Q}'(—Yq‘a—,

A.

B.

forg & | Heifed ¢

Grammar
TpIUT
Photography
BIRTH

Philosophy
CAE

. None of the above

gTH A BIE TEl

56. What does CSAT stands for?
‘IR’ T 272

A.

Common Service Aptitude Test
BT i TLlegs T

Civil Services Aptitude Test
fafae afddw teiegs =
Core Selection Application Test
DR Aelch2[ TLIeYS ¢

None of the above

$TH A BIS &l

57. What is Narcissism?

TR T 22

A.

To be in love with the other

Bt 3= 3 Ty U A AT
Self Love

3T AIg

To hate others

IR B BAT

To be compassionate

TdeAohe giAT

21



58. Name the Shakespearean character whose soliloquy begins with the line “To be or not to be”

ARIUTIR b IH TR BT ATH TR TS HBT UhTATY ‘T &1 IR AT A YS BT &

A. Othello
MY

B. Shylock
AT ATh

C. Hamlet
THeIE

D. Macbeth
Hpaef

59. Which pair is not correct?

P IT G el T8 87

A. Salim-Javed
HATH-STTdE

B. Shankar-Ahsaan-Loy
[PI-TgHH-AIT

C. Laxmikant- Beharilal
dAeHipid-faerdfiere

D. Salim-Suleman

HeATH-GoA AT

60. Which of the following is related to the ‘1857 War of Independence’?
1857 & Tq=IdT GUTH | §7H Y fhdepT Hei g2

A. Raisina Hill
TRAAT gETet
B. Flagstaff Tower

TRHRETE <l

C. Rajghat

D. Birla Mandir
IEESIRITR

61. To what kind of file does DOCX' extension usually refer?

22



DOCX' extension AT b d¥g b HIsd A Tefad 22

A. Compressed Archive file
BURE NThBIgd B
B. Excel file
TeRIeT Hlgel
C. Power point file
TR WTge BIse
D. Word file
CER D]

62. Which state in India is Madhubani painting associated with?
RA &1 PIF T I HYST FIAbBelt I ST g31 872

A. Assam
39H

B. Gujarat

C. Manipur

AT

D. Bihar

faer

63. Choose the correct match:

FE A BT I

A. Konark Temple — Odisha
B. Italy - Athens
geil- Y
B. River Nile — South Africa
et Tt — fafor 3rhiesT
C. Fatehpur Sikri - Haryana

BAgqR FRia- giRaron

64. Which of the following is not a drama?
STH A PIF T AT T8l 872

A. Charandas Chor
TRAGRT IR
B. Shakuntalam

23



C.

D.

65. Name the gallantry award from amongst the following.

ofTa
Kumarsambhawam
PHRHHIH
Ghashiram Kotwal

YRIRTH BIddTd

79 F B T /R JREBR 2?

A.

B.

Padma Chakra
Yl dh
Kaal Chakra
Pblel TUh
Ashok Chakra
312N TqH
Dharm Chakra
UH T

66. Which of the following is a vestigial organ?

fAeafafad & J oiF I7 3/g9et 3 272

A.

B.

C.

D.

Kidney

el

Liver

Appendix

Heart
ead

67. Choose the correct match.

AT B

A.

B.

Chicken Pox- Bacteria
[EESRICSESICIYY
Small Pox- Virus
A UTa- faurog
Dengue — Fungus

ST]- Bab

Ring Worm- Insect

R - ie

68. Which of the following is true?

24



STH I T T8 22

1) Congo, an African country, was formerly known as Zaire.
DI Teb 3TTHTeT 420 8 ol Tt STRR & ATH I STHT ST &/
i1) River Congo of Africa was formerly known as River Zaire

37IRYBT BT BTN At Ul STRR e b ATH A ST STrdT eff

ii1) River Congo is the deepest river in the world

P A< faeq fop Ty Mgt 7<) ©

A. Only i & ii are true

Fae 1 3R 11T &,
B. Only ii & iii are true
e ii 3R iii TEE
C. Only 1 & iii are true
Bae 1 3R iii TE &
D. All are true

it wE

69. Which of the following is true about 'Apartheid'?
TYIE’ b IR H STH I PIT el 872

A. System of racial segregation in Africa
INBIPBT A AXATT AeTd Y ezl

B. Discrimination against blacks in America
3ARBT A 37T I WedTd

C. Discrimination against Indians in Britain
fsied § YRdT & W

D. Discrimination against Indians in America

3MRET H YRAT F AeTd

70. What is the ‘Nelson Number’ in cricket?
fopcbe B ‘Yo IAT AT 872

222
111
333
101

Cow»

71. Global Warming is supposed to increase the sea-water level. Which of the following countries is
predicted to submerge completely by the end of 21st century if global temperatures keep rising at
the current pace?

QHT HIAAT & feb Tetleret arfii & T STt TR 96 I8l 8. IS YHSH diIaT SH IRIR J adl
gl Al gepad! HI & 37d deb STH I DI T &2l T X8 STATATad &1 STRT?

25



A. Indonesia
ESIRIER

B. Phillipines
IEARIER]

C. Maldives
ATAGT

D. Japan
SIRIG)

72. Which of the following groups of countries shares land border with India?

<2If &1 gTH I FT THg R P Hdg(STHIA) T HIHT HTEHT B .

A. Pakistan, China, Bhutan, Nepal, Bangladesh, Afghanistan, Sri Lanka
UTfesed™, I, Y&, TUTd, T2, BT, Sfieidb

B. Pakistan, China, Bhutan, Nepal, Myanmar, Bangladesh, Afghanistan
Uifdhed, T, YeH, AUTd, RIFAR, GiaArsel, TBIHEaH

C. Pakistan, China, Nepal, Myanmar, Bangladesh, Afghanistan, Maldives
UTfdsed™, T, AUTd, RIFAR, FiTeTeel, BT, Aleard

D. Pakistan, China, Bhutan, Nepal, Afghanistan, Myanmar, Sri Lanka,

Maldives, Bangladesh
YTfesd™, I, M, T, BT, RIFAR, ST, ATed!, diterer

73. Which of the following is not an endangered species of India?

STH I B T TRA B WU TSI T8l 872

A. Indian Vulture
YRA fig
B. Blackbuck

PEOTHIT
C. Ass
T

D. Kashmir Stag (Hangul)

PR IREFGTT

74. Name the magazine devoted to women and their issues.

39 U1 BT ATH T ST AfgeT3il 3iR 39 el P FHftd 8.

A. Caravan

EEC]

B. The New Quest
& Y e
C. Manushi

26



At

D. Kali for Women
BTt BIR faqq

75. The book The Accidental Prime Minister raised a lot of debate recently. Who is its author?

T UfRIs e WTSHMAR’ fdodTa 7 811 & A1 § &8 faaral & o1+ f&ar. w@d &iF a9

A. Natwar Singh
e g

B. Sanjaya Baru
Horg 9196

C. Salman Rushdie
A B

D. Dinanath Batra

SHTTeS 3T

76. What causes the disease Beri Beri?

S-SR T BT BRUT T 82

A. Deficiency of Vitamin D
fderfa €t &1 st

B. Deficiency of Vitamin B1
faerfia dt-1 $ w+t

C. Excess of Vitamin B1

fereri ofi-1 <7 31feiear

D. Excess of Vitamin D

[EEKIEEEIEI BE|

77. Which of the following is known as the powerhouse of the cell?

PIf2AehT BT 2lfcheerct fpd gl STTdT 22

A. Nucleus
e

B. Mitochondria
C. RNA
IRTAT
D. DNA
EIRCRY

78. India’s space vehicle PSLV-C23 was launched on 30 June 2014 from Sriharikota. Satellites of
which of the following groups of countries were launched by this vehicle?
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YRt 3fafker TaYUT A1 NUATea- I 23 BT HeReler & 30 S 2014 &Y BIST T, 59
T&YUT I P gRT 378 I fbq ol & 3gUGT bl elT TaT?

A. France, Germany, Canada and Singapore
B. Indonesia, Phillipines and Singapore
SenferaT, ffaft=g 3R Mg
C. Sri Lanka and Bangladesh
SfieiepT 3R iTareer
D. None of the above

T A PIS el

79. In the recently held BRICS Summit 2014, it was decided that the headquarters of the New
Development Bank will be at

Tt &1 H gU feleny ferer araf 2014 # qar fobar w1 fos 73 fdery s o1 gearera H g

A. Shanghai, China
eieTd, <A

B. New Delhi, India
T8 feoatt, vRa

C. Rio de Janeiro, Brazil
R 8t sk, sifeie

D. Moscow, Russia

ARp!, 9

80. Which of the following is not a hereditary disorder?
ST I PIF AT T A7 TE 82

A. Hemophilia
femftsferan

B. Colour Blindness
3T 37EdT

C. Sickle-Cell disease
et e I

D. Appendicitis

nifsarsfew

81. Cuboid is related to Rectangle in the same way as Cube is related to

YN 310d I 3 UepR Heifd ¢ oY g9 gafad & .

A. Triangle
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B. Square

G|
C. Trapezium
A T
D. Parallelogram
HHIR TG4t
82. Which one is the odd one out?

TeAd Hel bl 2
5,10, 17,24, 37, 50

A. 10
B. 24
C. 50
D. 17

83. Eight people went for a five-day mountain trip. They took food supplies for eight people
sufficient for five days, such that each of them will get the same share. Two more people joined
the trip but the new members did not get more food supply. For how many days would the food
last if the originally planned daily share was not changed?

TS &N Ui A BT UgTs I R T, 3=8i4 JTeT JiHUT g1 7T H o1 o giwr faT 7 316 @ &
for 7t 21 3R U Fa T fEwT SRTaR 81, I/ H &l @ Sf8 T aifdhd 13 e 31feid W4
TE @1 U, A AT & oy bt gdfafRa AT & 3R A7 gee ST at @ fod & g

A. 6 days
6 fe

B. 4 days
4féa

C. 3 days
3 e

D. 5 days

5
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84. A battalion of National Security Cadet is facing north direction. They were given following
commands:

®  Turn left
®  Turn left

Turn right

AT GR&HT FHe< F Tob Felfeidd Sif IR e ol 3R 379 ¢ &l fAmfafad fAder fid m.
. En-a--ﬂ—sr

'EFR?@
'?[Iffﬂ_&'

Which direction are they facing now?

g for 319 foog R 22
A. East

D. South

&fefor

Instructions for Q85-86:

In a cricket match, Smita scored fewer runs than Nisha but more than Ekta. Nisha scored more runs
than Roohi but less than Ameena. Roohi scored less runs than Smita but more than Ekta?

W2 85-86 & foid fAder:
U fobdpe B |, AT 7 132 T 1 3 R oifded Tdbar I 31fdd. fHem 3 Bt & 31fdd 319 1) cifded
AT A BH. Bt 7 T T BH 3 913 e UebdT I 376,

85. Who scored the highest runs in the match?
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g ¥ gaffde M fbaa §9R?

A. Nisha

e

B. Ameena

3T

C. Smita

f&ar

D. Roohi

el

86. Who scored the second lowest runs in the match?

T W GERT Y A I g gmam

A. Roohi
e
B. Nisha

B

C. Smita

D. Ekta

Instructions for Q87-90:

A school advertised the post of school counsellor. Following is the distribution of candidates who
applied for the post:

Triangle represents trained candidates with certificate in counselling
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* Circle represents married candidates

* Rectangle represents female candidates

AR

U 87-90 & fed fAder:
U faemera 7 faanea wmeferdar & U & ford faaimus fear. 3mmded & a1t 3FfieaR! &l faaror 59
UYHR &

* st ufeifeia 3micart a1 goifdT 8 S ury Wl # JHToTIS §

*  gd faarfed 3fiear’ o gfdr &
* 3R AfgT 3HICaR] B g2rfar B

/T N

32



87. If school wants to interview only trained female counsellors who are married then how many
candidates are eligible for the interview?

Ife faamea daa ufelfeid faarfed Afgem TATEHERI BT ATGTBR AT dTe al ATThR & o
fosd™ 3ufieaR A g2

A.S
B. 4
C. 10
D.3
88. What does number 10 represent in the diagram?

STRIUTH ¥ 376 10 T 221fdT 22

A. married candidates
B. married candidates without certificate

ST TOTOS % faarfia 3f@icar

C. married candidates without certificate who are not female
fem voT v & faanfEa 3wilear i afger 481 2
D. married candidates who are female

faanfed afger 3rtear

89. How many candidates have certificate in counselling?
R} H feb IRfIeaRT & U FHTOT U 87
A. 8
B. 3
C. 15
D. 11
90. Some poets are players, some players are actors, and no poet is an actor. Which of the following

diagrams correctly represents the above statement?
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$8 Bid fGTEt 8, $B fGaTS! 3ihiAar 8, ®Is Bfd thiar 98l 2. S99 J B Y 31Tpld g9 Hed
BT Tl b I Z2ufdt 22

- 000

O

o

13

The following questions (Q.91 - 100) are language related questions
Attempt either the Hindi or the English Question

YT A Feifta fAAfefad g2l (924 ST 91 - 100) # A &) ar 3o § & fhdl vd FT13WR <.
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91. Choose the correct option that best reflects the meaning of the following sentence.

My classmate gave this book to me.

A. My classmate was given this book by me.

B. This book was given to me by my classmate.
C. I gave this book to my classmate.

This book was given to my classmate by me.

OR
“GIch PP d Al AT HIGehdT IEH’ H B AT 3cibR 2?2

A. JHB
B. 20Y
C. BUb

D. 99 q BIS &l

92. Choose the correct option that best reflects the meaning of the following sentence.
Your car is more expensive than mine.
A. My car is not cheaper than yours.
B. Your car is cheaper than mine.
C. My car is as expensive as yours.
D. My car is not as expensive as yours.

OR

P T 2lec; TST BT GITIaT=N Tal .

A. 39
B. @
C. &1

D. ST&d

93. Complete the following sentence with the best option that reflects the overall meaning of the

sentence.
To the dismay of the student body, the student president of the school was berated by the

principal at the school assembly.



privately

Quietly
publicly

oaow>

extremely
OR

TeAd Hel Bl Uga
A. 39T H 3T IWA ITcAT- TP
B. 1d ¥ gA dTell- HeM=R
C. S9! B 3UAT 7 81 — UGN
D. {593 uR=rr 7 2 - 3rulfed

94. Complete the following sentence with the best option that reflects the overall meaning of the
sentence.

The child was so spoilt by her indulgent parents that she pouted and became at the slightest
of rebuke on her misbehavior.

discreet
sullen
ecstatic
elated

oSOow»

OR

9’ BT ITIRUT T T 22

A. g8

B. AT
C.axr
D. 3

95. To say ‘Break a leg’ means that one is wishing the person:

A. Good luck
B. Bad luck
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C. Bad health
D. Failure

OR

0 O fobg ofeq o 3l 781 22
A. 3T0RTY
B. 370HH

C. 31992[
D. 379Hfd

96. To give someone ‘a cold shoulder’ means:

hit someone on the shoulder
be friendly to someone
please someone

50w

ignore someone
OR

37T fSBTAT YgTeRT &1 Fal 37ef T 82
A. BRIRT BT
B. q& STHT
C. TR &

D. Udl&T &AT

97. Choose the alternative which best expresses the meaning of the word scintillating

very sharp
very dull
very bright

oCaw>

very blunt
OR

ToTd Hef oY Ui
A. 3R H 3YRATITH aTel- TP
B. 1d ¥ gH dTell- H2=R
C. fSad! B 3uAT 7 8 — 3UBR
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D. f5o g 7 81 - 3raRfad

98. Choose the alternative which best expresses the meaning of the idiom/phrase a white elephant

Burdensome or costly possession
Useful mode of transport
A rare article

SOowp

A proud possession

& TRy U,
A. T8 A3} fobara 2.
B. I8 WX fdsaTer €.
C. Ig fdsara g AT
D. 378 A BIS &

99. What is the appropriate antonym of the word industrious

Stupid
Lazy
Harsh

Inexpensive

Sawp»

OR

o1eg-2Ifh & fbe W Bld &7
A
B. @
C. IR
D. Ui

100.What is the appropriate antonym of the word unruly

Disciplined
Immobile
Engaging
Indifferent

O0wW R
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OR

T ETaAT BT Hel Afe fese, g
A. MTGHT +9d
B. HEHITEAT
C. T-HHTaAT

D. STH A BIS T8l
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